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Answers

Challenge 1 - 5 beads.

Challenge 2 - 45

Challenge 3 - 482

Challenge 4 - Jacket £56 and Shirt £31

Challenge 5-34g
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Add 2 or more fractions / E N e

174 P Q

Explain your choke to @ partrer.

© compietsth ocaions

o[
%7274
* 7]

WA

; Did you both have the same answer?

i

© compietsth acions

& o281
5 )3

e
sle

© compiee th parwcle moces.





image2.png
What could the missing numerators be?
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Subtract 2 fractions © complete the colculations.
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© ockras 2 kg o otatoss.

He uses £ kg of pototoss.
How many Kllograms does he hove left?
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